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1. Question No.1 is compulsory.
2. Attempt any three questions from remaining ﬁvq thqstums, &
3. Assume suitable data if required. SR IE
4, Use Smith chart for the transmission line p;cbiem 1f askeﬁ <

Figure No.l.
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(b) (I) State properties of the posmvenreai t_it:@‘(B

Salin )
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tzpu?ifﬁ OF iﬁz"’f*‘%ﬁh \E}"op v _}as’gn (5-M)
&‘“’i(“\f" RN S
w‘ ﬁﬂgd{% NO.Q a‘s g‘ezg‘ﬁmtlal conditions.
O \zﬂ‘\ "‘-\-\‘q\\"\:_:\“.
. ‘}gﬁ‘;\ G A “\ :‘:\ (10-M)
AV \
g \
)
7 .
P o
R | c Vc_C'L) L oS H
FijQTLNa g
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A formulas and de’r,enpmefoilewing parameters. (10-M)
S S -(1) Emdﬁg&d@@ttancg a*iyt‘hc lba" .eﬁﬂ of transmission line. (2-M)
= 3 & (11) Find mput“lmgedance at lhqg;mput port of transmission line. (4-M)
e oA ey (m) Fmd feﬂeciwncqéﬁic;eqtat the load end of transmission line. (2-M)
e o & (iv) Fmti?nitage \wafve standmg ratio (VSWR) along the transmission line. (2-M)
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(b) (I) State properties of the p031t1v&raai 'fug

(II) Check positive realness o’f the fun £

Figure No- 9
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N.B.

«

Q. P. Code : 20753

S €. sSend)) - EXTC  Fliz\y (€85G5) @
‘9—?%;)(-5\) E’\amtﬁd Time : 3 Hours Total Marks: 80

1. QuestionNo. 1 is Compulsory

2. Out of remaining questions, attempt any three

3. Assume suitable data if required

4, Figures to the right indicate full marks

(a) Compare SRAM and DRAM 15]

(b) Compare Mealy and Moore machine 151

(¢) Compare TTL and CMOS Logic (5]

(d) Compare PLA with PAL 15]

(a) Prove that NAND and NOR Gates are universal Gates 110}

(b) Designa full subtractor and implement using logic Gates (10]

(a) Designa 4 bit Binary to Grey code converter 18]

(b) Implement the given function using 8:1 Multiplexer |10]

F(A,B,C,D)= Tm(0, 1,24, 5 6,7,8%.9,10,12, 13)

(a) Explain 4-bit asynchronous up counter with proper ti ming diagram (10}

(b) Writea VHDL program to design a 4:1 Mux {10]

(a) Minimize the following expression using Quine McClusky Technique {10}
F(AB,CD)= ym(0, 1,2. 3,5, 7,9,11,15)

(by Convert JK FF to T FF and SR FF 1o D EF 110}

(a) Design synchronous mod 5 counter using T FF [10]

(b) Wirite anote on CPLDs {10]
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Question No. 1 is compulsory.

Duration: 3hours
(1)

N.B.

Solve any three questions from the remain

@)

Figures to the right indicate full marks.

3)

4)

Attempt any 5 questions

Q\\. 1
ttertigcuit

S

QC)‘
dex

a) Write down current equation of diode an

Q.1

n@sr.

W ﬁ,}\

.
[a¥

b
Litos
SR

2

ign.

e) Draw small si
f) Why LC os

diave

+

4

=

a) Draw theSwipt
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c¢) Explain effect of
d) Compare CE, C
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if B = 100.
l"n\;B l

Fi‘g 3a

a) Find Icq and Vcgq for the circuit shown in

Q3

b) Explain the construction and ch

ic§
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a) For the circuit shown in Figg

(10]

e
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Vv = 1V, Ky = 0.5 mAAR;

input impedance and outp
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1< x <2 PEHO
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Solve using Laplace transform
y(0) = =3 and y'(0) = 5,

Prove that 2 J," (x)
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